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General Knowledge

Where was Munshi Premchand born?
(A) Kanpur

(B) Arampur

(C) Ghaziabad

(D) Varanasi

Which of the following is the oldest
university in Uttar Pradesh?

(A) Aligarh Muslim University

(B) Banaras Hindu University

(C) Mahatma Gandhi Kashi Vidyapeeth
(D) Allahabad Central University

Which Uttar Pradesh city is known as the
‘Grasse of the East’?

(A) Gorakhpur

(B) Moradabad

(C) Banaras

(D) Kannauj

Which neighbouring country isknéwn agthe

‘=and of the Tnunder Dragon™
(A) Burma

(B) Nepal

(C) Bangladesh

(D) Bhutan

Kazuo Ishiguro won the Nobel Prize in2017
for which discipline?

(A) Chemistry

(B) Physics

(C) Mathematics

(D) Literature

Who was the first woman Leader of the
Opposition in the Pakistan Senate?

_(A) Bilawal Bhutto Zardari

(B) Benazir Bhutto
(C) Sherry Rahman
(D) Mumtaz Mahal
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What is India’s cruise missile with seeker
technology called?

(A) Prithvi

(B) Garuda

(C) BrahMos

(D) Narayan

How many trans-border trains operate
between India and Pakistan?

(A) 4

(B) 1

©) 2

(D) 3

Which company was recently implicated in
a global data theft crime?

(A) Amazon

(B) Google

(C) Cisco

(D) Cambridge Analytica

In December 2017, the 15th Russia-India-
China Trilateral Foreign Ministers’ Meeting
was held in

(A) Shanghai

(B) Beijing

(C) Moscow

(D) New Delhi

The large-scale expansion of the British rule
in India occurred through subsidiary
alliances, which was started during the
Governor-General ship of

(A) Lord Warren Hastings

(B) Lord Cornwallis

(C) Lord Wellesley

(D) Lord Clive

After the death of Guru Gobind Singh, the
institution of Guruship came to an end and
the leadership of the Sikhs passed to his
trusted disciple

(A) Ranjit Singh

(B) Banda Bahadur

(C) AjitSingh

(D) Jujhar Singh

Q7

Q8

Q9

Q10

Qll

QI2

Y Teheitep D RS TR & el FrETgd
D A 87
(A) gedi

(B) mes

) AARTguT

HRA 3R gIfea @ @ fbat Tr—<ar
F ot &7
(A) 4

By

) 2
®) 13

BIel 81 % Ud Af¥as o7 ard anmry F g
B BT ATH HAT oAT?
LAY AT
(B) et
(C) Ry
(D) dfast TeTfoTfeeT

1541 TU-YRA—419 Bey Ry w3y
&l 95% faHaw 2017 H ..o i gs
off |

(Ay eraTg

(B) =T

(C) wrep!

[(D) 7 Rt |

4Rd ¥ fAfew e 1 38 I w AR
WeS WfoRl & ARgd § g, W TaR
VI ssmssesmvsas @ AT HIA H PGS D

(B <ifS ®i-difera
(C) ifs Jarorell

(D) e @ega

% MidE Rig 61 97 & 918, TS B G
e 8 g R Rl @1 g sn e
fagaaa R ... @1 dig e
T | ‘

(A) v Rig
(B) da1 98Igy |
I(CESGEEE
(D) IR e

SET-13



Q13

Ql4

Q15

Q16

Q17

QI8

A-FN

The name Pakistan was first coined by

(A) Mohammad Igbal
(B) Mohammad Ali Jinnah
(C) Choudhry Rahmat Ali
(D) Maulana Azad

Rabindranath Tagore renounced his
knighthood in protest of the

(A) Cabinet Mission

(B) Jallianwala Bagh massacre

(C) Rowlatt Act

(D) Simon Commission

The river Godavari originates in the state of

(A) Madhya Pradesh
(B) Chhattisgarh
(C) Mabharashtra
(D) Odisha

Which of the following is the largest
freshwater lake in India?

{A) Dal Lake

(B) Loktak

(C) Chilika

(D) Wular

The law-making procedure laid down in the
Indian Constitution has been considerably
influenced by the Constitution of

(A) South Africa
(B) Germany
(C) Japan

(D) the USA

The Right to Education (RTE) Act was
enacted by the Parliament of India in the year

(A) 2006
(B) 2007
(C) 2008
(D) 2009

Qi3

Ql4

Q16

Q17

Q18

digemr 2R A Aol Agegs @ Sy

- g 3 iR A v Rl
(A) Bfee e

[(B) wiferaiaren amT -RuER |

(Cy Wete gae

(D) HTEHT HHILA

ARG P Fa a9 A ur B e diF Al
27

(A) o et

(B) dIae®H

(C) FRreet

(DY TR

AR wREE § e T @ FuiRd
T wifad 21

(A) <f&or amhien

(B) ST

(C) oIm4r_

| @y g wrsa s |

R @7 afeR (IREE) A am ad ..
. ¥ YR @ due g fRfafE e
TR v

(A) 2006

(B) 2007

(Cy 2008
(D) 2009

SET-13



Q19

Q20

Q21

Q22

Q23

Q24

A-FN

Maharaja Sawai Jai Singh (Jai Singh 11) set
an astronomical observatory at ____.

(A) Ujjain

(B) Shimla

(C) Bharatpur

(D) Jodhpur

The Union Health Ministry launched asingle
vaccine for dual protection against

as part of the Universal Immunisation
Programme.

(A) measles and rubella

(B) measles and mumps

(C) rubellaand tuberculosis

(D) influenza and mumps

Which of the following districts of Uttar
Pradesh has the highest population as per
the 2011 census?

(A) Gorakhpur

(B) Lucknow

(C) Allahabad

(D) Bareilly

Which one of the following princely states
announced its accession to Pakistan imy 1947
but was later forced to join India afterthe
plebiscite result?

(A) Rampur

(B) Junagarh

(C) Faridkot

(D) Porbandar

Which one of the following Indian states,
does NOT have the Tropic of Cancer passing
through it?

(A) Rajasthan

(B) Tripura

(C) Mizoram

(D) Uttar Pradesh

Which of the following Indian states does
NOT have a bicameral legislature?

(A) Uttar Pradesh

(B) Jammuand Kashmir

(C) Tamil Nadu

(D) Karnataka

Q19

Q20

Q21

Q22

Q23

Q24

TR W W Rie (o Riw g A

(A) St

(B) M
(C) WA
(D)-SEgR

yfaetel SIBTvel HIAHH B w9 H DU
R AT 7 oo & faeg AN
<ot @ fore ueel fod @1 e fhar
(A)@WW-WJ

(B) @a=T 3R Tergan

€y Eaor 3R qifkd

(D) SHEUST AR TG

2011 @ SO P SFAR SR Ye¥ B
fare fore @) SiEaT \aR ST 87

(A) TREGR

(B) oRETS

[(©) semmr |

(D) &Rl

e § @ fra Rarma 3 1047 7 .
qftwar # e 2 S @ o A
G Wiora ©ue @ 918 3% ¥Rd A A
g9 @ fIy wergy B ST &7

(A) YHETR '

(

(D) 9RER

ﬁﬂfﬁf@ﬁﬂmﬁuw\ﬂﬁﬁﬁﬁﬁﬂﬁﬁm
Y 8 el 87

(A) ISTRATA

By g

(C) feiRH

[(D) sere wdwr |

ﬁmﬁfﬁﬂmﬁuwﬁfﬁﬁﬁmqrﬂﬁ
frees faum HWea A8l 87

(A) STR AaT

(B) 57 U8 SR

| © afeig |

(D) HHICH

SET-13



Q25

Q26

Q27

Q29

Q30

A-FN

Who was the Chairman of the Union Power
Committee of the Constituent Assembly of
India?

(A) Dr. Rajendra Prasad

(B) JBKripalani

(C) Sardar Vallabhbhai Patel

(D) Jawaharlal Nehru

The ancient mathematics book Ganita-Sara-
Sangraha was authored by

(A) Bhaskaracharya

(B) Mahaviracharya

(C) Aryabhatt

(D) Brahmagupta

Who has written an English book
“Unleashing India” which outlines how India
can become a superpower in 25 to 30 years?
(A) Veerappa Moily

(B) SM Krishna

(C) Shashi Tharoor

(D) Manohar Parrikar

In December 2016, Indian Railways started
the first Humsafar class of trains between
Anand Vihar and

(A) Allahabad

(B) Gorakhpur

(C) Varanasi

(D) Ballia

The famous Sufi Saint Sheikh Salim Chisti’s
Dargah is situated at in Uttar
Pradesh.

(A) Jaunpur

(B) Kannauj

(C) Fatehpur Sikri

(D) Barabanki

 Which is the third highest peak in the

Himalayas?

'(A) Mount Lhotse

(B) Mount Makalu
(C) Mount Fuji
(D) Mount Kanchenjunga
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What is the state flower of Uttar Pradesh?
(A) Rose

(B) Marigold

(C) Jasmine

(D) Palash

Where is bile produced in humans?
(A) Stomach

(B) Pancreas

(C) Liver

(D) Gallbladder

When was the National Human Rights
Commission set up in India?

(A) 2000

(B) 1995

(C) 1993

(D) 1950

Which of the following diseases is caused
by fungi?

(A) Tonsillitis

(B) Gallstones

(C) Heart attack

(D) Ringworm

Which Indian state accounts more than one-
third of sugar production and output as of
2016-17?

(A) Gujarat

(B) Uttar Pradesh

(C) Maharashtra

(D) Karnataka

The original document of the Constitution
of India was handwritten by

(A) Dr. B. R. Ambedkar

(B) Sarojini Naidu

(C) Prem Behari Narain Raizada

(D) Dr. Rajendra Prasad
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Q37 What is the chemical name for Vitamin B7?
(A) Pantothenic Acid
(B) Biotin
(C) Ascorbic Acid
(D) FolicAcid

Q38 Where was the hockey legend Major Dhyan
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Numerical & Mental Ability

*VIRTUE’ is related to ‘Sympathy? in, the,
same way as ‘VICE’ is related to '
(A) Sorrow

(B) Cruelty

(C) Kindness

(D) Emotion

Which of the following pairs most closely
matches the relationship between the words
above?

GHAZAL : POEM

(A) Lie: Falsehood

(B) Chapter : Book

(C) Legend : Story

(D) Teacher: College

‘BEHK” is related to “DGJM” in the same
“way as ‘NQTW' is related to

(A) PRTV

(B) ORTU

(C) PSVY

(D) PRUX
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Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.

Axe : Woodcutter :: Needle : ?

(A) Butcher

(B) Carpenter

(C) Tailor

(D) Painter

Which of the following pairs is opposite to
the relationship between the words above?
Hatred : Love

(A) Virtue : Vice

(B) Like: Dislike

(C) Friend : Enemy

(D) Safe : Secure

Select ?c alternative that is related to the
third térm in the same way as the second
term is related to the first term.

Doctor; Patients :; Teacher: ?

(A) Children

{B" Students

(C) School

(D) Classrcom

What will be written in place of the question
mark in the given sc*ies
A1Y25C3G7TW2307?

(A) 20

(B) 16

(C) 15

(D) 18

How many T’s are both immediately
preceded and followed by ‘E” in the following
series?
ETETTMEEETETETETTEET
TTEEETETETETTEETE

(A) 7

(B) 6

©) 5

(D) 8

13

Q79

Q80

Q81

Q82

Q83

I et &1 g off AR 98 9 S UBR
e & O YR g 9% UE U 9
waftr 2

W:Hﬂv_\{e‘m::'\ﬂﬁ:?

(A) BTE

B)TFE

(D) ¥mant (Hev)

fefoRad # & @ @1 gw i Ry 717
TR} & ey ey 9 fuda 87
HUI : U

m)w:wﬂ

(B) g¥< : AO¥Y
(©) = : w3
(D) |HI : guferd

39 fase @1 g o RN UE | SH YBR
T @ R uHR 8T U8 UEd U8 ¥
et &1

rfrcs - A - s ?

(A) a=

D

(€) fagarer

(D) @an

@ TE sfEan # ywEfEd @ WM W R/
ferar smgn?

A1Y25C3GTW230??

(A) 20

(B) 16

(D) 18

frfoRaa sfwem # OF fbas TE Rie
gia usd 3k @ 5 E’ 87

€TBTTMEEKTETETETTEET
TTEEETETETETTEETE
(A) 7
®) 6
(€) 5
(D) 8
SET-13



Q84

Q85

Q86

Q87

Q88

What will be written in place of the question
mark in the given series?
8H24X7G15017?

(AT

(B) R

©) Q

(D) P

What will be written in place of the question
mark in the given series?

B2I9R18T20H?

(A) 6

(B) 7

) 8

(D) 9

What will be the 29th letter of the sequence:
a,b,b,c,ercdd,dd, 2

(A) f

(B) g

(C) h

(D) i

How many T’s are immediately followed by
‘IE” in the following series?
ETIETTMEEETEITETETTIE
ETTIETIEEETEITETETEITE
ILETLE

(A) 4

(B) 7

(C) 6

(D) 5

Ramesh goes towards North, turns right,
then turns right again and then goes to the
left. Which direction is Ramesh facing now?
(A) East

(B) West

(C) North

(D) South

14

Q84 & TE sjw@en # yHfaET & WA W a4l

forar smgm?
8H24X7G150177
(A) T

(B) R

(D) P

& ¢ sfEenr § yERET & @ U @
forer wmen?

B219R18T20H?

(A) 6

(B) 7

) 8

(D) 9

®Ha,b.b,c.c.c,dd, d,d,__ @129
JER AT BIIY

(A) f

B) g

(C) h

e smar # W e T# s
qéd @18 ‘IE’ 87
f:@\}"[ﬁﬁﬁtrEITETET:TgE
ETQUECEEETEITETETEITE
1EQE.

(A) 4

(B) 7

6

(D) 5

AT TR Pl IR @ 8, Y gl g, by
¥ TN FEar 8 SR R 9 o 21 39
e e faem @Y iR o e 27

(A) T

(B) af¥=m

(C) S

(D) fior
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Q89

Q90

Q91

A-FN

Sunita goes towards the south, turns left,
then turns right and then goes to the left.
Which direction is Sunita facing now?

(A) East

(B) West

(C) North

(D) South

Read the following question and decide
which of the arguments that follow is/are
strong.

Question:

Should a child from a not-so-affluent family

in India be allowed to follow his/her passion?

Arguments:

1) Yes, these days if a child is allowed to
pursue her/his interests, she/he can excel
in it, even financially.

2) No, even today our country does not
have a strong social security system and
establishing oneself in unconventional
fields is time-consuming and can be
financially taxing.

(A) Only Argument 1 is strong.

(B) Only Argument 2 is strong.

(C) Neither Argument | nor Argument 2.is-
strong.

(D) Both Argument | and Argument 2 are
strong.

Read the following question and decide
which of the arguments that follow is/are
strong.

Question:

Should parents invest as much in educating

their daughters as much as they spend on

educating their sons?

Arguments

1) No, almost all data points to the fact
that boys are way more intelligent than
girls.

2) No, though girls may be intelligent,
parents have to keep money aside for
their marriages.

(A) Only Argument | is strong.

(B) Only Argument 2 is strong.

(C) Neither Argument 1 nor 2 is strong.

(D) Both Arguments 1 and 2 are strong.

15

Q90

Q91

geirar <fEor ) ok ol 8, 9 geeh @
R <Y gt & 3R iR 917 oiRh 81 o@
ﬂlﬁmaﬁaﬁ?m@?
(A) g

(B)

(C) IR

(D) =féror

feq Ty g @1 ug 3R Tw Ay Y fH
IR B ATel DI W T AT 2 |
..

TR @ e wg aRar @ T o 9

fefl ged @1 @1 I G BT ATE

T ST AIfRY?

D -

1y &, g7 AT aft 5 9= 31 e
TG &1 AR B &1 o,
a8 33 A B Hadl & U8l ab [P
anfdie R U A

2) 8L 3l BAR < H Hotgd qHIfoT®
& U e & SR e @
AR & # wnfia s
1 gaid) € aun I8 AMe wI ¥ AR
SIFA_dIeTT_ 81 Ul 8 |

[(A) daa & | waaemeh 21 |

(B). T TP 2 WHEETA ¢ |

O)'Frarae | iR 9 & @ 2 FHraEe
2l .

(D) @@ 1 3R d& 2 <l ywEenell 8 |

fav 1y 9w @7 ud @R g8 Folg W &

IERYT PR dlel BIFT O b gHEETC € |

T3 :

F1 qra-far &7 g afeal & Rifé

F H SaT @d ST anfee fraar 3

s de) &1 Rt exa 3§ @d aea &7

D :

1) =8, e it e g9 T Bl
TOld & 5 e dsfaal ¥ w8l
siftre gfegwr 8

2) 8, Blife asfhai gigHE 8 Had)
g, cifthe wia—far @ g9 faae @
f1y arer @ g9 @A S B

(A) BIF TH | gAETEN B |

(B) dadl dd 2 yHramel & |

(C) AT Al | 3R A &l AP 2 IHELIC
=

(D) @ 1 3R @b 2 il TAEeTel |
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Q92

Q93

Q94

A-FN

Read the following question and decide

which of the arguments that follow is/are

strong.

Question:

Should a cricket team have more than one

captain during a match?

Arguments

1) No, one needs to make decisions on the
spot and there won’t be time to resolve
conflicting ideas between the captains
on the field if such a scenario emerges.

2) Yes, it is always better to have more
brains coming to an understanding
before taking a decision.

(A) Only Argument 1 is strong.

(B) Only Argument 2 is strong.

(C) Neither Argument | nor 2 is strong.

(D) Both Arguments 1 and 2 are strong.

Which of the numbers given below is NOT a
square number?

(A) 1225

(B) 2025

(C) 2525

(D) 4225

Select the most appropriate option 1o solve
the equation.

60+5%(16-8+2)+3=

(A) 48

(B) 16

© 1

(D) 32

Select the most appropriate option to solve
h wation.
987+6.54+3.21=
(A) 19.62
(B) 18.62
(C) 19.72
(D) 18.52
&
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Q92

‘093

Q94

Ry 7 yem w wd AR gE frofg W fH
mmﬁmﬁaﬂqﬁaﬁwﬁﬁl
g

1 sl fpepe W & g & <RE @ A

P @@ 89 AfRe?

P

1) 18N ff @ Hie u g o g '
3R a8t sar g 98l g & A9
R HOEl $ 4" wER faREl ffar
BN TR I8 GoAsnar ae afe A uikeed
SufRerd & oY |

2) &I, g o & usd e ol a
g @ oy o 9 2fde alasn! &1
. BFT EWe & dEaR /T B |

(A)fhaaaaé | gIEeTel ® |

(B) ®da TP 2 GHEE & |

(C) AT TP 1| 3R T & TP 2 wrasmen
B

(D) @& 1 3R TP 2 T yHEeel 2 |

H & ¢ wei A W eE W AT wwen
e 87
(A) 1225
(B) 2025

(D) 4225

HAHYUT Bl Bl P @ foI0 FaH IuGed
fawe a1 g |
60+5x(16-8+2)+3=

(A) 48

(B) 16
€)1
(D) 32

RO BT FA ¥ D 7 FIH SUYHR
famea a1 g |

9.87 +6.54 +3.21 =

(B) 18.62

(C) 19.72

(D) 18.52
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Q96

Q97

Q98

Q99

Q100

Select the most appropriate option.

nl

What is the difference between %and % ?
(A)
(B)
©)

(D)

Select the most appropriate option.
Find the HCF of 30, 60 and 72.
(A) 2

(B) 3

©) 6

(D) 12

Select the most appropriate option.
Find the LCM of 15, 30 and 24.
(A) 60

(B) 240

(C) 180

(D) 120

If 21 chocolates are shared in the ratio 5 : 2,
the smaller share will be chocolates,
(A) 3
(B) 6
©) 9

(D) 10

Mahim secured 126 marks in a test out of 175.
What was the percentage of marks obtained
by Mahim?

(A) 75

- (B) 72

A-FN

(©) 70.5
(D) 70

17

Q9% waH eugaﬁﬁmzﬁ’rgm%aﬂv%
& dra # sfax T BRI?

4

15

2

15

(A)

(B)

©

i N

(D)

Q97 WeH IuYa fdmed BT g | 30, 60 3N 72
&I HEwH AAGAD (TAAITH) BFTT?
(A) 2
(B) 3
(C) 6

(D) 12

Q98 |IH TuYad fdded HT g | 15, 30 AR 24
B TG A (TARITgE) 8T
(A) 60
(B) 240
(C) 180
(D) 120

Ife 21 =idbelc 5 : 2 & U H AT B
SRl B, o B Ry A fa didee
BiTl?
(A) 3
(B) 6
(C) 9
(D) 10

Q99

Q100
foby | mfew qawt e fby siet @1 wfcrerd
T 8?
(A) 75
(B) 72

(O 703

(D) 70

_SET-13
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Q101

Q102

Q103

Q104

Q105

Select the most appropriate option.
What is 12% of 35?

(A) 4.6

(B) 44

(C) 42

(D) 4.05

By selling an item for T 434, Ramesh makes
a profit of 24%. What was the price at which
Ramesh purchased the item?

(A) Z350

(B) 360

(C) T340

(D) 2375

After a discount of 12%, a toy was sold for
Z 132. What was the marked price of the
toy?

(A) T 140

B) T175

(©) 150

(D) T 160

The interest earned on ¥ 2,500 deposited
for 3 years at 4% simple interest per annum
will be .

(A) T240

(B) 3250

(C) T288

(D) ¥300

What will be the interest earned on ¥ 1.400
for two years if the interest is compounde’’
annually at 10% per annum?

(A) T288

(B) 2%

(C) T302
(D) %308

18

Q101

T SRy fRwe 1 g |
35 BT 12% BFI?

(A) 4.6

(B) 4.4

(C) 42

Q102

Q103

Q104

Q105

(D) 4.05

YT U A% 434 WA H dUDR 24% WA
FU 2| WY A 98 avg few @Hd |
it ofr?

(A) 350 07

(B) 360 =4Y
(C) 340 4Y
(D) 37547

lz%ﬂ?tzggfﬁ‘ma,qmﬁaﬁmlszwﬁ
e T o7 | Raci @ sifhd ged 9 &1
(A) 140 ®IT
(B) 175 ¥1T

(C) 150 4T

(D)..160 ®4Y

4% affe amRe @ @ X W™ 2,500
HUY BT 3 WA BT AT BITP

(A) 240 wIY

(B) 250 %Y

(C) 288 wUY

[(D) 300 59T |

10% aifife wmgfeg @mel @ X TR 1,400
wUY BT 2 Il BT A BI?
(A) 288 ®UY

[B) 294w7 ]

(C) 3029V
(D) 308 ®4Y
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2106

Q107

0108

Q109

A-FN

Ravi and Rashmi invested ¥ 150 and < 260
respectively in a business but Ravi withdrew
his money after a few months. It the end-of-
twelve-months’ profit was shared between
Ravi and Rashmi in the ratio 1. 2, after how

many months did Ravi take out his money?

(A) 4

(B) 6

<) 8

(D) 10

The average of 18, 27 and another number
is 30. What is the third number?

(A) 35

(B) 36

(C) 40

(D) 45

Person A can complete a job in 48 min while
B can complete the same job in 60 min. How

lang will they take to compléte --1b5e‘"j:ab

together?

(A) 26 min40s
(B) 28min20s
(C) 30 min 45 s
(D) 32min15s

Rajesh can walk at Sm/sorcycleat20 m/s.
He takes 45 s to cover a distance of 600 m

using a combination of the two modes of

transport. How long did Rajesh cycle?
(A) 15s
(B) 20s
(C) 255
(D) 265
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Q106 ¥ 3R W A AW 150 HUY AR 200

HIT TP AR § PR 6 a6 A
o #EAT @ 9@ U 4 araw & forar)
Ffe qve A8T &7 o ¥fa siw A @ 4
W q 2@ orur # wEs fur T @
T o B - A L A - T M1 B R I L
Fyepret o

(A) 4

(B) 6

(D) 10

0107 18, 27 3R TH 3T A FE&AT BT IATET

30 &1 N e oF 9 e?
(A) 35
(B) 36
(C) 40

(D) 45

Q108 wif¥ A R wrd @1 48 Frte H gx X

wwar &, wafe afk B ol @ 7 e
firre # QX1 &) Hdal 81 AR I @ T
58 w1 B W A T G FA H b
THY ST

[(A) 26 e 40 vos |

(B) 28 faee 20 Ti@s
(C) 30 fic 45 4TS
(D) 32 fiFe 15 ¥ds

Q109 o 5 Aex ufy Y A iy | ded gd

w@dT £ a1 20 Wex U Wws B A |
ﬂgﬁmﬂmﬂaﬁm%la@uﬁaﬁ%zﬁ
Gt B e A 600 HIex B G Bl T
T B U 45 Ape ol B WO |
wrefa frad X @ T’

(A) 15 TDs

(B) 20 95

(C) 25 A®e

D) 26 vas



Q110

Ql11

Ql12

- (B)

The length, width and height of a room are
in the ratio 5 : 4 : 2. If the length is increased
by 20% and the width by 25% while the
height is reduced by 25%, what will happen
to the total area of the four walls ¢t the room?

1
(A) Reduce to It of the initial area

1
(B) Increase by 3 of the initial area

1
(C) Increase to 2 of the initial area

1
(D) Reduce by Eofthe initial area

Tuhin and Pranab can individually complete
a job in 42 min and 70 min respectively.
Starting with Tuhin, they work alternately
for a minute each till the work is completed,
only the one working at the end allowed to
work for less than a minute in his final turn.
How long will it take the duo toiconiplete
the work? '
(A) 53 min

(B) 52min24s

(C) 52min30s

(D) 52min40s

Ravinder teaves home every day at 8 am and
reaches office at 9: 30 am. One day he left
his home at 8 am but travelled a third of the

ih
distance at T of the usual speed. At how

many times his normal speed did Ravinder
travel at the remaining part of the jcumey if
he managed to reach office on time?

(A)

©

RN|w niey A|lwv W

D)

Q110

Qlll

Qli2

ThH PH @ g, drerg iR HawE
5:4:2$Wﬁﬁ%|ﬂﬁﬂﬁl§20%3ﬁ?
HISE 25% 98 Ol B, odfd $aE 25%
P9 B UKl B, d R B AR AR B
T B a7 |

(A) WRfE &aua &1 1—]2- & Bl SIRATT

e 1
(B) WRfs 3w H1 o 62 SR

(C) IRM& arAwd &1 -

.lzaamﬂ?rr

(D)mfﬁaﬁaﬁcsaw%ma‘rm

gfest ok yor &0 @ @Y bt e
42 faFe 3R 70 faFre & Q@ &% WHa €|
ort @ T 7@, dfed ¥ g ad g
eFT 9—a1d vH-Ua e @M g | Haa
3fd ¥ @ PR aT P g ifaw g §
UF e | H 9HY B BRI
2] o g1 @ H 39 Q1 P fer A
AR

(A) 33 fiFie

(B) 52 e 24 dwe |
(C) 52 ¥9c 30

(D) 52 fAFe 40 ¥®Hs

<fig Ior gaw 8.00 a9 W W Fiperr &
3R 9:30 g HrEfey UgEAT 81 U A
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Q113

Qll14

Q115

Q116

Q117

A-FN

Which of the following pairs most closely
matches the relationship between the words
above?

GHEE : VANASPATI

(A) Milk : Water

(B) Milk : Tea

(C) Milk: Curd

(D) Milk : Cheese

Q113

f=forRaa & @ &= a1 g ™ Ry 1g
giee] & 7 ey o s g wgar
&7

o : gEafa

(A) gu :

(B) q¥ : 9™

(C)qrdsa'@|
D) F: T

Mental Aptitude, IQ & Reasoning Ability

Which is the odd one out in this set:
Metre, Mile, Furlong, Acre, Yard
(A) Metre

(B) Mile

(C) Furlong

(D) Acre

Find the odd pair out of the following pairs:
(A) Social Sciences : Physics
(B) Mathematics : Algebra
(C) University : Harvard
D) Fruits : Banana

Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.

Wood : Chip :: Bread : 7

(A) Butter

(B) Crumb

(C) Slice

(D) Cake

Choose the answer figure which'most closely
resembles the water image of the question

figure.
% ol e * N\ ¢
o .’ ¢ Qo [+
(a) {b) ] (d)
(A) a (B) b
C) ¢ (D) d
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Q114

Q115

o | § @ 9a el S 87
#rew, A, B, UEs, a1

(A) Hiex
(B) ¥t

(C) wahT
(D) tFs

Ay v TR g A @ FIQ AT I B
qgaH |

(A) GEITS® W= - dide) |

Q116

Q117

(B) TR : Al 0T

(O Tasafagarera : 8198

(D) W : Dell

e fAdeT BT T B O R U8 9 TP
I HEN ¥ Wi 8 99 QERT IS Usd
gg & wHfg 8?7

Ahel TS HS 1 Y

(A) TaRIT
(B) 9X1
(C) wingd
(D) &6 _~

Ry v Rewr # ¥ 39 o o1 ygar
ST ugdl fora @1 Wl aldled gil

0’ o| * * ‘.-
o || ¢® ol 0 o
(a) (b) {c} {d)
(A) a (B) b
) c (D) d
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Q118 Select the odd figure out of the following Q118
figures:

SIINEE

A ] C [ -]

(A) A
(B) B
©) C
(D) D

Q119 The given figure is folded on the edges to Q119
form a cube. Find the option ywhich
represents the faces of the cube correctly:

+ 0O
®

[e)

A | * %
[

® | O [
© | B
[

(D) o ¥

A-FN 22

for 7 ax RBEl ¥ @ e s fm @
B |

] PON[S2] S

A ] L= -]

(A) A

(B) B
(€) C
(D) D

8l fRu 7y g @1 [FERT | Hisee ua
T G AT & | O fddmen @1 udr o
NS YR ¥ @1 U9 P Idel Dl W8l e
J qufar &

x

+ oI
]
[®]
VN A
@
® | O [~
© | ®
o | o |P
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Q120 Which figure is related to figure 3 in the same
way as figure 2 is related to figure 1?7

~ 1=
L

A-FN

AR 3]s

I 2

+

(A) L
- +

(B) z
L Z+

o |[

(D)

+
o

3

Select the odd figure out:

(A)

(B)

©

(D)

Q120 farg Ty freeat 3 A B 3 fra | & I
gpR § wEtd ¥ oRifs RE 2 fEa @
wrafad 8?2

) s LA e (] 4

(A)

(B)

(©)

D) | lo

Ql21 fifeRan fadedi # & waW e ey

&)
ey
&
©

(©)

(D)
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Q122 Which figure is related to figure 3 in the same Q122 fay 7y faeedl # ¥ fodl 3 frerd St I/

way as figure 2 is related to figure 1? ypR T 2 Rfs e W
R 87
NF - .
OE@T
1 2 3 4
(A)
(B)

(©)
©)

(D)

Q123 Find the odd figure out: Q123 fay 7Y e i ¥ a9 ae fased
(Rrs) 1 wEar '
(A)
(A)
(B)
(B)
© B
©) - |
]
(D)
(D)
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Q124

Consider the given two statements to be true
even if they seem to be at variance from
Read the
conclusions and then decide which of the

commonly known facts.

given conclusions logically and definitely
follows from the two given statements.
Statements:

1) No window is a fish.

- 2) Al!fishes are men.

Q125

A-FN

Conclusions:

1. No window is a man.

2. Noman is a window.

3.  Some men are fishes.

4. Allmen are fishes.

(A) Only conclusions 2 and 4 follow
(B) Only conclusions 1 and 3 follow
(C) Only conclusion 3 follows

(D) All the four conclusions follow

Consider the given two statements to be true

even if they seem to be at variance from

Read the
conclusions and then decide which of the

commonly known facts.
given conclusions logically and definitely
follows from the two given statements.
Statements:

1) Some chalks are dusters.
2) All the dusters are boards.
Conclusions:

1. Some chalks are boards.
2. No duster is a board.

(A) Onlyconclusion 1 follows
(B) Only conclusion 2 follows
(C) Neither conclusion | nor 2 follows
(D) Both, conclusions 1 and 2 follow

25
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Q126

Q127

Q128

Q129

Q130

A-FN

Consider the following statements to be true
even if they seem to be at variance from
commonly known facts. Decide which of the
given conclusions logically follows from the
statements.

Statements:

1) Some desks are caps.

2) No cap is black.

Conclusions:

I) Some caps are desks.

II) No desk is black.

(A) Only conclusion I follows

(B) Only conclusion II follows

(C) Both, conclusions I and I follow

(D) Neither conclusions I nor II follow

Find the missing number: 2, 10, 30, 68, ?
(A) 101
(B) 102
(C) 130
(D) 104

Find the missing number in the following
number series:

4,17,34,53,76,7

(A) 105

(B) 85

(C) 95

(D) 103

Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.
Thermometer : Temperature :: Ammeter : ?
(A) Voltmeter

(B) Current

(C) Mass

(D) Energy

Which number follows in the given series?
0,2,6,12,20,30,42,?

(A) 64

(B) 50

(C) 56

(D) 60
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Select the alternative that is related to the
third term in the same way as the second
term is related to the first term.

Doctor : Patient :: Lawyer: 7

(A) Judge

(B) Court

(C) Complainant

(D) Barrister

Select the option that is related to the third
term in the same way as the second term is
related to the first term.

22651556557

(A) 13

(B) 4

<) 12

(D) 8

Complete the following number sequence.
2.5,18 17,26, 37,7

(A) 40

(B) 42

(C) 49

(D) 50

If BAN is coded as DCP in a certain code
language, what will PAPA be coded as?
(A) RARA

(B) CAAA

(C) ACCC

(D) RCRC

In a certain code language, FILE is written
as 7465 and IDEAL is written as 43586.
How will DEAF be written in that code
language?
(A) 3478
(B) 3588
(C) 3587
(D) 4578

IfTRUTH is coded as SUQSTVSUGI, then
how will LIES be coded?

(A) KMJHDFTR

(B) KMHIDFRT

(C) HIDFRTKM

(D) KMJHFDTR
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(A) 13
(B) 4
(C) 12
(D) 8
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In a code language, if BUTTER is coded as
EXWWHU and MILK is coded as PLON,
then, in the same code language. how will
EARTH be spelled?

(A) HDWUK

(B) HDUWK

(C) KHDUW

(D) KHUWD

Manmohan is the brother of Praveen. How
is Praveen’s only sister’s mother’s mother
related to Manmohan?

(A) Maternal grandmother

(B) Sister

(C) Aunt

(D) Cousin

Pointing to a photograph Savita says, “He is
the son of the only son of my grandfather.”
How is the man in the photograph related to
Savita?

(A) Brother

(B) Father

(C) Son

(D) Uncle

Pointing to a woman, Gita said, “She is the
daughter of the only child of my
grandmother.” How is the woman related to
Gita?

(A) Niece

(B) Cousin

(C) Sister

(D) Mother

What will be the next figure in the given
series?
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Q138 TeRiE WA BT WS B AT B
ag B A A e SR W
He e B X
(B) ¥&+
(C) g3
(D) 79 g8+

Q139 TF WIERTH & I Wb S Y Hadl
2| prETE e goY | ¥ faw uerR
wefoer 87
(®) o

©) 9=
(D) =man

Q140w Af¥e ) SR wder FRA gY A FEA!
2, qg A T A TEAE FAH B 9
3| wfeen Mar ¥ 9 TER WP 8
(A) il
(B) HHY 8

(D) #i

QI41 & 7 sRaen ¥ eFTeh angpfdy aar BNl
@[O0
‘(A) @ (B) I‘

o @& o

28 SET-13

!



Q142 Find the odd figure out:

Q143

Q14

Q145

A-FN
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Choose the Venn diagram that best illustrates
the relationship among the three classes given
below:

Birds, Fish, Chicken.
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h~ose the Venn diagram that best illustrates
“~¢ relationship among the three classes given =
below:

Sports, Football, Lizard.
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Choose the Venn diagram that best illustrates

the relationship among the three classes given
below:
Pen, Pencil, Paper.

’\\
A) Q—S"'
\

|_/|

TN
(A
(B) N
N

o@D o o

29

Q42

Q143

Q144

Q145

IR STPHT ) ugA B

@ &
(C)

I A9 3RA BT 9I9 B, of [ g MY

VA
> &9

a0P J BT B
e, Fweh), gt

(A) @O

AN Fag
& =@

I 49 G 1 999 B, 9 A Ry MY
3 Tt & wEy P TR wad 9B
TP | Fal B

o () Py

w (O e (OF
s o
/,f'_‘a-\‘ s /-:-:\

I 9 3G & T4 BN ol A Ry MY
&9 T B Hew @ AR VR qEW
TS F HaT 5
Do, IRYE, dITS

00 (T
Wy ® N
i
© (QUO| f@))
SET-13




Q146
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Identify the odd man out in the figures (A)
to (E) when the mirror is held at AB.

bl E

A B C D E

(A) A
(B) B
e
(D) D

The two words in the word pair given below
are related in a certain way:

Exercise: Fitness

Find the pair in the sets below which has the
same relationship as the original.

(A) Rain: Crops

(B) Practice : Perfection

(C) Sacrifice : Recognition

(D) Wealth : Happiness

The triplet most similar to (3,16,125) is:
(A) (2,8.81)

(B) (5,36,343)

(C) (6,36,144)

(D) (7,64.256)

Find the odd pair out from among the
following pairs?

(A) Company : Employees

(B) Team : Players

(C) Ocean : Ships

(D) Forest : Trees
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Q150 Choose the correct mirror image of the object Q150 Ry v i & ufif &1 sar ﬁm
given from the answer figures: a7/ 999 ¥
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Answer Figures: ' IR Aoy fom -
(A) A (A A
(B) B (B) B
©) C (3 W ol
(D) D D) D
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